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•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 16 rFkk iz'u 40 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     
General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     
        All questions are compulsory.    
    (ii) iz'u Øe kad 1 ls 40 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA  

        Questions from 1 to 40 are objective type questions. Each question is of 1 

mark.  
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1. ;fn lEcU/ k R t ks Z ij ifjHkkf"kr gS vkSj R = {(x, y) : x – y is an integer} } kjk fn;k x;k gS]  

og gS %    1 

(A) dsoy  LorqY; 

(B) dsoy  lefe r 

(C) dsoy  laØke d 

(D) lHkh LorqY;] le fer ,oe~ laØked 

Relation R is defined on Z given by R = {(x, y) : x – y is an integer} is : 

(A) Reflexive only 

(B) Symmetric only 

(C) Transitive only 

(D) All of the three Reflexive, Symmetric & Transitive 

2. x1cos−  dk eq[; e ku gS % 1 

(A) 




 ππ
−

2
,

2
 (B) [0, π] 

(C) [0, 2π] (D) bu esa ls dksbZ ugha 



 ( 3 ) 5631/(Set : D) 

5631/(Set : D)/ II   P. T. O. 

The principal value of x1cos−  is : 

(A) 




 ππ
−

2
,

2
  

(B) [0, π] 

(C) [0, 2π]  

(D) None of these 

3. 








 −−

2

3
sin 1  dk e q[; eku gS % 1 

(A) 
6

π
−   

(B) 
3

π
−  

(C) 
3

π
   

(D) 
6

π
 



 ( 4 ) 5631/(Set : D) 

5631/(Set : D)/ II 

The principal value of 








 −−

2

3
sin 1  is : 

(A) 
6

π
−   

(B) 
3

π
−  

(C) 
3

π
   

(D) 
6

π
 

4. 







−

π −

2

1
sin

3
sin 1  dk eku gS % 1 

(A) 
2

1
  (B) 

3

1
 

(C) 0  (D) 
2

1
 









−

π −

2

1
sin

3
sin 1  is equal to : 

(A) 
2

1
  (B) 

3

1
 

(C) 0  (D) 
2

1
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5. f} vk/kkjh lafØ ;k ∗ tks a ∗ b = ab } kjk fn;k x;k gS vkSj z ij ifjHkkf"kr gS]  og gS % 1 

(A) dsoy  Ø efofu es; 

(B) dsoy  lkgp;Z  

(C) Øefofues; vkSj lkgp;Z nksuksa 

(D) dksbZ ugha 

Binary relation ∗ given by a ∗ b = ab defined on z, is : 

(A) Commutative only 

(B) Associative only 

(C) Both Commutative & Associative 

(D) None 

6. 2 × 4 ds d ksfV ds vkO;wgksa d h dqy la[;k ftudh izfof"V d soy 0 ;k 1 gSa]  og gS % 1 

(A) 27   

(B) 16 

(C) 81   

(D) 256 

The number of all possible matrices of order 2 × 4 with each entry 0 or 1 is : 

(A) 27   

(B) 16 

(C) 81   

(D) 256 
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7. ;fn A vkSj B nks le ku dksfV ds vkO;wg gSa]  rks fuEu e sa ls dkSu&lk vo'; :i ls fo"ke lefer 

(Skew Symmetric) vkO;wg gS \ 1 

(A) A – A'  

(B) A + A' 

(C) AB   

(D) A'B' 

If A and B are two square matrices of same order, then which of the following 

is a skew symmetric matrix necessarily ? 

(A) A – A'  

(B) A + A' 

(C) AB   

(D) A'B' 

8. ;fn fcUnqvkas A(1, 3), B(0, 0) vkSj C(k, 0) dks fey ku s ls 3 bdkbZ {ks=Qy dk f=Hkqt cu rk gS] rks 

k dk e ku gS % 1 

(A) 4   

(B) ± 2 

(C) 0, 4   

(D) bu esa ls dksbZ ugha 
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The value of k for which the triangle formed by joining A(1, 3), B(0, 0) and                

C(k, 0) form a triangle of area 3 units is : 

(A) 4   

(B) ± 2 

(C) 0, 4   

(D) None of these 

9. ;fn Qy u 








=

≠
−

−

=

5,

5,
5

25

)(

2

xk

x
x

x

xf  x = 5 ij lr r Qy u gS]  rks k dk e ku gS %  1 

(A) 0  (B) 5 

(C) 10  (D) bu esa ls dksbZ ugha 

If 








=

≠
−

−

=

5,

5,
5

25

)(

2

xk

x
x

x

xf  is continuous at x = 5, then the value of k is : 

(A) 0  (B) 5 

(C) 10  (D) None of these 

10. ;fn f(x) = sec (tan x2), rks f'(x) dk eku gS % 1 

(A) sec (sec2 2x)  

(B) sec (tan x2) tan (tan x2) 

(C) sec (tan x2) tan (tan x2) . sec2 (x2) 

(D) sec (tan x2) tan (tan x2) sec2 (x2) . 2x 
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If f(x) = sec (tan x2), then f'(x) is : 

(A) sec (sec2 2x)  

(B) sec (tan x2) tan (tan x2) 

(C) sec (tan x2) tan (tan x2) . sec2 (x2) 

(D) sec (tan x2) tan (tan x2) sec2 (x2) . 2x 

11. x = 4 ij oØ  xxy 43 4
−=  d s Li'kZjs[kk dk < ky gS % 1 

(A) 768  (B) 764 

(C) 772  (D) 770 

The slope of tangent to the curve xxy 43 4
−=  at x = 4 is : 

(A) 768  (B) 764 

(C) 772  (D) 770 

12. dx
x

x
∫ 2

2

cosec

sec  cjkcj gS % 1 

(A) c
x

x
+−

cot

tan
 (B) tan x – x + c 

(C) 2 tan x sec2 x + c (D) bu esa ls dksbZ ugha 

dx
x

x
∫ 2

2

cosec

sec
 is equal to : 

(A) c
x

x
+−

cot

tan
 (B) tan x – x + c 

(C) 2 tan x sec2 x + c (D) None of these 
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13. dxxe x∫
2

2 dk e ku gS % 1 

(A) cex x
+

22  (B) cex x
+

22  

(C) ce x +
2

 (D) bu esa ls dksbZ ugha 

dxxe x
∫

2
2  is equal to : 

(A) cex x
+

22  (B) cex x
+

22  

(C) ce x +
2

 (D) None of these 

14. oØ y2 = x vkSj js[kk x = 1, } kjk izF ke prqFkk±'k esa f?kjs {ks= dk {ks= Qy gS % 1 

(A) 
3

2
  (B) 1 

(C) 
3

4
  (D) 

3

1  

The area of region bounded by y2 = x and the line x = 1, in 1st quadrant is : 

(A) 
3

2
  (B) 1 

(C) 
3

4
  (D) 

3

1  
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15. vody le hdj.k 0

3

2

2

=+







+ y

dx

dy

dx

yd
 d h ?kkr gS % 1 

(A) 3  (B) 2 

(C) 1  (D) ifjHkkf"kr u gha 

The degree of the differential equation 0

3

2

2

=+







+ y

dx

dy

dx

yd
 is : 

(A) 3  (B) 2 

(C) 1  (D) Not defined 

16. ;fn P(A) = 0.8, P(B) = 0.5 vkSj P(A ∩ B) = 0.32, rks P(B/A) dk eku gS % 1 

(A) 0.4  (B) 0.64 

(C) 
8

5
  (D) bu esa ls dksbZ ugha  

If P(A) = 0.8, P(B) = 0.5 and P(A ∩ B) = 0.32, then P(B/A) is : 

(A) 0.4  (B) 0.64 

(C) 
8

5
  (D) None of these 

17. ;fn A  vkSj B  nks lfn'k gSa]  rks A  × B  ,d lfn'k gS tks yE cor gS %  1 

(A) nksuksa A  vkSj B  ds (B) d soy A  ds 

(C) dsoy  B  ds (D) fdlh ds u gha 
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If A  and B  be two vectors, then A  × B  is a vector perpendicular to : 

(A) Both A  and B  (B) A  only 

(C) B  only (D) None 

18. fcUnqvksa (2, 3, –4) vkSj (–1, 1, 2) d ks fey ku s okyh js[kkvksa ds fnd~ dkslkbu (Direction Cosine) 

gS %   1 

(A) 3, 2, –6 (B) –3, –2, 6 

(C) 
7

6
,

7

2
,

7

3 −−
 (D) bu esa ls dksbZ ugha 

Direction cosines of the line joining the points (2, 3, –4) and (–1, 1, 2) are : 

(A) 3, 2, –6 (B) –3, –2, 6 

(C) 
7

6
,

7

2
,

7

3 −−
 (D) None of these 

19. )2(sec3tan 11
−−

−−  cjkcj gS % 1 

(A) π  (B) –
3

π
 

(C) 
3

π
  (D) 

3

2π
 

)2(sec3tan 11
−−

−−  is equal to :  

(A) π  (B) –
3

π
 

(C) 
3

π
  (D) 

3

2π
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20. 







−

2

1
sin 1  dk e q[; eku gS % 1 

(A) 
3

π
  (B) 

4

π
 

(C) 
6

π
  (D) 

2

π
 

The principal value of 






−

2

1
sin 1  is :  

(A) 
3

π
  (B) 

4

π
 

(C) 
6

π
  (D) 

2

π
 

21. eku yhft, fd le qPp; N esa R = {(a, b) : a = b − 2, b > 6} }kjk çnÙk laca/k R gS] fuE ufyf[kr 

esa ls lghlghlghlgh mÙkj pqfu , %  1 

(A) (2, 4) ∈ R (B) (3, 8) ∈ R 

(C) (6, 8) ∈ R (D) (8, 7) ∈ R 

Let R be the relation in the set N given by R = {(a, b) : a = b − 2, b > 6}. Choose 

the correct answer : 

(A) (2, 4) ∈ R (B) (3, 8) ∈ R 

(C) (6, 8) ∈ R (D) (8, 7) ∈ R 

22. A (Adj A) = (.............) I 1 
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23. ..................
21

24

1

3
=⇒

−−
= x

x

x
 1 

24. ;fn y = cos–1 










+

−

2

2

1

1

x

x
, rks ................=

dx

dy
 1 

If y = cos–1 










+

−

2

2

1

1

x

x
, then ................=

dx

dy  

25. ;fn y = 3e7x + 2e–7x, rks y
dx

yd
....)(.........

2

2

=  1 

If y = 3e7x + 2e–7x, then y
dx

yd
....)(.........

2

2

=  

26. ∫sin 4x cos 2x . dx  = (.............) + c 1 

27. ∫e
x (sin x + cos x) dx  = (.............) + c 1 

28. A vkSj B }kjk fd lh leL;k dks gy  dju s dh izkf;drk,¡ Øe'k% 
3

1  vkSj 
4

1  gSaA ;fn nksukas Lora= 

:i ls leL;k gy  djsa]  rks le L;k gy gksu s dh izkf;d rk gS ..............A 1 

Probability of solving a problem independently by A and B are 
3

1
 and 

4

1
 

respectively. If both try the problem independently, then the probability that 

problem is solved is .............. . 
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29. ,d lEcU /k ds rqY; lEcU/ k gksus dh 'krs± fyf[k,A 1 

Write the condition that a relation is equivalence relation. 

30. 







+







 −−

2

1
sin2

2

1
cos 11  cjkcj gS %  1 

(A) 
3

π
  (B) 

3

2π
 

(C) 
4

π
  (D) 

4

3π
 









+







 −−

2

1
sin2

2

1
cos 11  is equal to : 

(A) 
3

π
  (B) 

3

2π
 

(C) 
4

π
  (D) 

4

3π
 

31. ;fn 
21

02

1

53

−
=

x

x
]  rks x dk e ku gS %  1 

(A) 
3

2
  (B) 2 

(C) 3±  (D) 0 

If  
21

02

1

53

−
=

x

x
] then the value of x is : 

(A) 
3

2
  (B) 2 

(C) 3±  (D) 0 
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32. ;fn x2 – 2xy + y2 = 200, rks 
dx

dy  Kkr dhft,A 1 

If x2 – 2xy + y2 = 200, then find 
dx

dy
. 

33. vUrjky ftlesa QaD'ku xxxf 32)( 2
−=  fujarj o/kZe ku gS % 1 

(A) 







∞

4

3
,  (B) 








∞,

4

3
 

(C) 







∞− ,

4

3
 (D) bu esa ls dksbZ ugha 

The interval in which function xxxf 32)( 2
−=  strictly increasing is : 

(A) 







∞

4

3
,  (B) 








∞,

4

3
 

(C) 







∞− ,

4

3
 (D) None of these 

34. dxx∫
π

0

3cos  dk eku Kkr dhft,A 1 

Evaluate dxx∫
π

0

3cos . 

35. dx
x

x
∫

+

1

0 21

2  dk e ku K kr dhft,A 1 

Evaluate dx
x

x
∫

+

1

0 21

2
. 

36. oØ y = cos x, x = 0 ls x = π rd d k {ks=Q y Kkr dhft,A 1 

Find the area bounded by the curve y = cos x between x = 0 to x = π. 
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37. vody le hdj.k xy
dx

dy
tan=  dk O ;kid gy Kkr dhft,A 1 

Find general solution of the equation xy
dx

dy
tan= . 

38. ;fn A vkSj B nks Lora= ?kVuk,¡ gSa ftle sa P(A) = p1 vkSj P(B ) = p2, rks P(A' B' ) Kkr dhft,A 1 

If A and B are independent events such that P(A) = p1 and P(B ) = p2, then 

find P(A' B' ). 

39. lfn'k kji ˆ7ˆ3ˆ ++  dk lfn'k kji ˆ8ˆˆ7 +−  ij iz{ks i K kr dhft,A 1 

Find the projection of vector kji ˆ7ˆ3ˆ ++  on the vector kji ˆ8ˆˆ7 +− . 

40. lfn'kkas ar  vkSj b
r

 ds ifjek.k Ø e'k% 3  vkSj 2 gSa vkSj ar .b
r
 = 6 , rks ar  vkSj b

r
 ds chp dk 

dks.k K kr d hft ,A 1 

Find the angle between two vectors a
r
 and b

r
 with magnitudes 3  and 2 

respectively having a
r
.b
r

 = 6 . 

S 


